B 10 (Modified Official Form 10) (4/13)		
UNITED STATES BANKRUPTCY	COURT, DISTRICT OF DELAWARE		PROOF OF CLAIM
Indicate Debtor against which y	ou assert a claim by checking the appropriate	box below (Check only	one Debtor per claim form):
Santa Fe Gold Corporation (Case No. 15-11761)	☐ The Lordsburg Minir	g Company (Case No. 15-11763)
Azco Mica, Inc. (Case No. 1	5-11762)	☐ Santa Fe Gold (Barba	dos) Corporation (Case No. 15-11764)
NOTE: Do not use this form to make You may file requests for pa	a claim for an administrative expense that arises a syment of an administrative expense according to l	ifter the bankruptcy filing.	COURT USE ONLY
	ntity to whom the debtor owes money or property)		
Patricia A. Riley,			11
Name and address where notices should			
Name and address where nonces should	oe sent:		
Louisville, Colon	BIND, Suite ZORECE,	IVED	
,	DEC 07	2015	Check this box if this claim amends a
			previously filed claim.
	American Le	gal Claims	Court Claim Number: (If known)
Telephone number:720-524-47	28 email: patricia espatriciar ileyte	w.com	(4 known)
Name and address where payment shou	•		Filed on:
Mante and address where payment should	a be sent (ii different from Boove)		C Check this box if you are aware that
	In re: SANTA FE	GOLD CORP	anyone else has filed a proof of claim relating to this claim. Attach copy of statement giving
	Case No: 15		particulars.
		10008	
		10000	1
Telephone number:	email:		
1. Amount of Claim as of Date Case I	Filed: 5 5187.50	80000000	
If all or part of the claim is secured cor	nplete item 4. If all or part of the claim is entitled	to bulgate, asset a territor	
Check this box if the claim includes in	nterest or other charges in addition to the principal	amount of the claim. Attac	a statement that itemizes interest or charges.
2. Basis for Claim: Legal	fees		
(See instruction #2)			1
3. Last four digits of any number by which creditor identifies debtor:	3a. Debior may have scheduled account as:	3b. Uniform Claim Iden	tifier (optional):
	(See instruction #3a)	(See instruction #3b)	
4. Secured Claim (See instruction #4)		Amount of arrearage an included in secured clair	d other charges, as of the time case was filed, n, if any:
Check the appropriate box if the claim is setoff, attach required reducted document	s secured by a lien on property or a right of ats, and provide the requested information.		•
			3
Nature of property or right of setoff: Describe:	□Real Estate □ Motor Vehicle □ Other	Basis for perfection:	
Value of Property: S	_	Amount of Secured Clai	m: S
Annual Interest Rate % DFix	ed or CIVariable	Amount Unsecured:	S
(when case was filed)			
Amount of Claim Entitled to Priori the priority and state the amount.	ity under 11 U.S.C. § 507 (a). If any part of the	claim falls into one of the f	ollowing categories, check the box specifying
Domestic support obligations under 1	1 Wages, salaries, or commissions (up to	\$12,475*)	tions to an
U.S.C. § 507 (a)(1)(A) or (a)(1)(B).	earned within 180 days before the case was		enefit plan –
	debtor's business ceased, whichever is earli		507 (a)(5).
	11 U.S.C. § 507 (a)(4).		Amount entitled to priority:
Up to \$2,775° of deposits toward	Taxes or penalties owed to governmenta		
purchase, lease, or rental of property or services for personal, family, or househo	11 U.S.C. § 507 (a)(8).		aragraph of 507 (a)().
use - 11 U.S.C. § 507 (a)(7).		,	
*Amounts are subject to adjustment on 4	1/1/16 and every 3 years thereafter with respect to	casas commandad on or off-	r the data of adjustment

B 10 (Modified Official Form 10) (4/13)		1
 Claim Pursuant to 11 U.S.C. § 503(b)(9): Indicate the amount date of commencement of the above case, in which the goods have supporting such claim. 	of your claim arising from the value of a been sold to the Debtor in the ordinary	any goods received by the Debtor within 20 days before the course of such Debtor's business. Attach documentation
s	(See instruction #6)	
7. Credits. The amount of all payments on this claim has been co	redited for the purpose of making this pro	of of claim. (See instruction #7)
8. Documents: Attached are redacted copies of any documents running accounts, contracts, judgments, mortgages, or security agr providing evidence of perfection of a security interest are attached	reements. If the claim is secured, box 4 his	as been completed, and reducted copies of documents
DO NOT SEND ORIGINAL DOCUMENTS. ATTACHED DOC	CUMENTS MAY BE DESTROYED AF	TER SCANNING.
If the documents are not available, please explain:		
9. Signature: (See instruction #9) Check the appropriate box.		
🗊 I am the creditor. 💢 I am the creditor's authorized agent.	© I am the trustee, or the debtor, or their authorized agent. (See Bankruptcy Rule 3004.)	☐ I am a guarantor, surety, indorser, or other codebtor. (See Bankruptcy Rule 3005.)
I declare under penalty of perjury that the information provided in	this claim is true and correct to the best	of my knowledge, information, and reasonable belief.
Print Name: Patricia A. Riley Title: Company: Patricia A. Riley LLC Address and telephone number (if different from notice address at	= Parus	a alley 11/24/15.

INSTRUCTIONS FOR PROOF OF CLAIM FORM

The instructions and definitions below are general explanations of the law. In certain circumstances, such as bankruptcy cases not filed voluntarily by the debtor, exceptions to these general rules may apply.

Items to be completed in Proof of Claim Form

Court, Name of Debtor, and Case Number:

Fill in the federal judicial district in which the bankruptcy case was filed (for example, District of Delaware), the debtor's full name, and the case number. If the creditor received a notice of the case from the bankruptcy court, all of this information is at the top of the notice.

Creditor's Name and Address:

Fill in the name of the person or entity asserting a claim and the name and address of the person who should receive notices issued during the bankruptcy case. A separate space is provided for the payment address if it differs from the notice address. The creditor has a continuing obligation to keep the court informed of its current address. See Federal Rule of Bankruptcy Procedure (FRBP) 2002(g).

1. Amount of Claim as of Date Case Filed:

State the total amount owed to the creditor on the date of the bankruptey filing Follow the instructions concerning whether to complete items 4 and 5. Check the box if interest or other charges are included in the claim.

2. Basis for Claim:

State the type of debt or how it was incurred. Examples include goods sold, money loaned, services performed, personal injury/wrongful death, car loan, mortgage note, and credit card. If the claim is based on delivering health care goods or services, limit the disclosure of the goods or services so as to avoid embarrassment or the disclosure of confidential health care information. You may be required to provide additional disclosure if an interested party objects to the claim.

3. Last Four Digits of Any Number by Which Creditor Identifies Debtor:

State only the last four digits of the debtor's account or other number used by the creditor to identify the debtor.

3a. Debtor May Have Scheduled Account As:

Report a change in the creditor's name, a transferred claim, or any other information that clarifies a difference between this proof of claim and the claim as scheduled by the debtor.

3b. Uniform Claim Identifier:

If you use a uniform claim identifier, you may report it here. A uniform claim identifier is an optional 24-character identifier that certain large creditors use to facilitate electronic payment in chapter 13 cases.

4. Secured Claim:

Check whether the claim is fully or partially secured. Skip this section if the claim is entirely unsecured. (See Definitions, below.) If the claim is secured, check the box for the nature and value of property that secures the claim, attach copies of lien

documentation, and state, as of the date of the bankruptcy filing, the annual interest rate (and whether it is fixed or variable), and the amount past due on the claim.

5. Amount of Claim Entitled to Priority Under 11 U.S.C. § 507 (a).

If any portion of the claim falls into any category shown, check the appropriate box(es) and state the amount entitled to priority. (See Definitions.) A claim may be partly priority and partly non-priority. For example, in some of the categories, the law limits the amount entitled to priority.

6. Claim Pursuant to 11 U.S.C. § 503(b)(9):

Check this box if you have a claim arising from the value of any goods received by the Debtor within 20 days before the date of commencement of the above case, in which the goods have been sold to the Debtor in the ordinary course of the Debtor's business. Attach documentation supporting such claim. (See Definitions, below.)

7. Credits:

An authorized signature on this proof of claim serves as an acknowledgment that when calculating the amount of the claim, the creditor gave the debtor credit for any payments received toward the debt

8. Document:

Attach redacted copies of any documents that show the debt exists and a lien secures the debt. You must also attach copies of documents that evidence perfection of any security interest. You may also attach a summary in addition to the documents themselves. FRBP 3001(c) and (d). If the claim is based on delivering health care goods or services, limit disclosing confidential health care information. Do not send original documents, as attachments may be destroyed after scanning.

9. Date and Signature:

The individual completing this proof of claim must sign and date it. FRBP 9011. If the claim is filed electronically, FRBP 5005(a)(2) authorizes courts to establish local rules specifying what constitutes a signature. If you sign this form, you declare under penalty of perjury that the information provided is true and correct to the best of your knowledge, information, and reasonable belief. Your signature is also a certification that the claim meets the requirements of FRBP 9011(b). Whether the claim is filed electronically or in person, if your name is on the signature line, you are responsible for the declaration. Print the name and title, if any, of the creditor or other person authorized to file this claim. State the filer's address and telephone number if it differs from the address given on the top of the form for purposes of receiving notices. If the claim is filed by an authorized agent, provide both the name of the individual filing the claim and the name of the agent. If the authorized agent is a servicer, identify the corporate servicer as the company. Criminal penalties apply for making a false statement on a proof of claim.

DEFINITIONS

Debtor

A debtor is the person, corporation, or other entity that has filed a bankruptcy case.

Creditor

A creditor is a person, corporation, or other entity to whom debtor owes a debt that was incurred before the date of the bankruptcy filing. Sec 11 U.S.C. §101 (10).

Clair

A claim is the creditor's right to receive payment for a debt owed by the debtor on the date of the bankruptcy filing. See 11 U.S.C. §101 (5). A claim may be secured or unsecured.

Proof of Claim

A proof of claim is a form used by the creditor to indicate the amount of the debt owed by the debtor on the date of the bankruptcy filing. The creditor must file the form with the clerk of the same bankruptcy court in which the bankruptcy case was filed.

Secured Claim Under 11 U.S.C. § 506 (a)

A secured claim is one backed by a lien on property of the debtor. The claim is secured so long as the creditor has the right to be paid from the property prior to other creditors. The amount of the secured claim cannot exceed the value of the property. Any amount owed to the creditor in excess of the value of the property is an unsecured claim. Examples of tiens on property include a mortgage on real estate or a security interest in a car. A lien may be voluntarily granted by a debtor or may be obtained through a court proceeding.

In some states, a court judgment is a lien. A claim also may be secured if the creditor owes the debtor money thas a right to scioff).

Unsecured Claim

An unsecured claim is one that does not meet the requirements of a secured claim. A claim may be partly unsecured if the amount of the claim exceeds the value of the property on which the creditor has a lien.

Claim Entitled to Priority Under 11 U.S.C. § 507 (a) Priority claims are certain categories of unsecured claims that are paid from the available money or property in a

bankruptcy case before other unsecured claims

A document has been redacted when the person filing it has masked, edited out, or otherwise deleted, certain information. A creditor must show only the last four digits of any social-security, individual's taxidentification, or financial-account number, only the initials of a minor's name, and only the year of any person's date of birth. If the claim is based on the delivery of health care goods or services, limit the disclosure of the goods or services so as to avoid embarrassment or the disclosure of confidential health care information.

Evidence of Perfection

Evidence of perfection may include a mortgage, lien, certificate of title, financing statement, or other document showing that the lien has been filed or recorded.

____INFORMATION

Acknowledgment of Filing of Claim
To receive acknowledgment of your filing, please enclose a stamped self-addressed envelope and a copy of this proof of claim. You may view a list of filled claims in this case by visiting the Claims and Noticing Agent's website at https://www.americanlegal.com/santafegold

Offers to Purchase a Claim

Certain entities are in the business of purchasing claims for an amount less than the face value of the claims. One or more of these entities may contact the creditor and offer to purchase the claim. Some of the written communications from these entities may easily be confused with official court documentation or communications from the debtor. These entities do not represent the bankruptey court or the debtor. The creditor has no obligation to sell its claim. However, if the creditor decides to sell its claim, any transfer of such claim is subject to FRBP 3001(e), any applicable provisions of the Bankruptey Code (11 U.S.C. §§ 101-1532), and any applicable orders of the bankruptcy court. PLEASE SEND COMPLETED PROOF(S) OF CLAIM

Via First Class Mail to: Santa Fe Claims Processing c/o American Legal Claim Services PO Box 23650 Jacksonville, FL 32241-3650

Via Overnight Mail or Hand-Delivery to; Santa Fe Claims Processing c/o American Legal Claim Services 5985 Richard Street, Suite 3 Jacksonville, Florida 32216

357 S. McCaslin Boulevard, Suite 200 Louisville, CO 80027

Phone: 720-524-4728 Fax: 720-746-9299 Click Here To Pay This Invoice Using Credit Card

INVOICE

Date:06/10/2015 Invoice #: 213 **Matter:** Litigation

File #:

Bill To: Santa Fe Gold 6100 Uptown Blvd NE Albuquerque, NM 87110

Due Date: 07/10/2015

Payments received after 11/24/2015 are not reflected in this statement.

Professional Services

Date	Details	Hours	Rate	Amount
05/05/2015 PAR	Discovery	3.00	\$280.00	\$840.00
05/06/2015 PAR	Discovery	4.00	\$280.00	\$1,120.00
05/18/2015 PAR	Draft	1.50	\$280.00	\$420.00
05/20/2015 PAR	Draft	0.80	\$280.00	\$224.00
05/22/2015 PAR	Email - Opposing Counsel	0.20	\$280.00	\$56.00
05/26/2015 PAR	Phone Conference	0.30	\$280.00	\$84.00
	For professional services rendered	9.80	9	\$2,744.00

357 S. McCaslin Boulevard, Suite 200 Louisville, CO 80027

Additional Charg	ges					
Date		Details	Q	uantity	Rate	Amount
05/31/2015	ELN	Filing Fees ICCES Filing Fee		1	\$13.50	\$13.50
			Total additional charges			\$13.50
			Invoice Amount			\$2,757.50
			Payment Received			\$2,638.50
			Remaining Balance			\$119.00
			Balance Due			\$119.00
						- Table 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1

357 S. McCaslin Boulevard, Suite 200 Louisville, CO 80027

Phone: 720-524-4728 Fax: 720-746-9299 Click Here To Pay This Invoice Using Credit Card

INVOICE

Date:08/11/2015 Invoice #: 283 Matter: Litigation

File #:

Bill To: Santa Fe Gold 6100 Uptown Blvd NE Albuquerque, NM 87110

Due Date: 09/10/2015

Payments received after 11/24/2015 are not reflected in this statement.

Professional Services

Date	Details	Hours	Rate	Amount	
07/06/2015 PAR	Depositions 3	9.00	\$280.00	\$2,520.00	
07/07/2015 PAR	Revise	0.40	\$280.00	\$112.00	
07/08/2015 PAR	Review - Correspondence	0.10	\$280.00	\$28.00	
07/10/2015 PAR	Review Disclosures	2.50	\$280.00	\$700.00	
07/14/2015 PAR	Revise	0.50	\$280.00	\$140.00	
07/14/2015 PAR	Review - Pleadings	0.10	\$280.00	\$28.00	
07/20/2015 PAR	Review - Pleadings	0.50	\$280.00	\$140.00	
07/20/2015 PAR	Review - Pleadings	0.70	\$280.00	\$196.00	

Please pay within 30 days. 8.0% compound interest will be charged every 30 days.

Invoice:#283Page 1 of 3

357 S. McCaslin Boulevard, Suite 200 Louisville, CO 80027

07/22/2015	PAR	Revise	5.50	\$280.00	\$1,540.00
07/24/2015	PAR	Review - Pleadings	1.90	\$280.00	\$532.00
07/27/2015	PAR	Review - Pleadings	1.50	\$280.00	\$420.00
07/28/2015	PAR	Review Disclosures	0.30	\$280.00	\$84.00
07/29/2015	PAR	Review - Email	0.10	\$280.00	\$28.00
07/29/2015	PAR	Review Disclosures	0.30	\$280.00	\$84.00
		For professional services rendered	23.40		\$6,552.00
Additional Cha	rges				
Date		Details	Quantity	Rate	Amount
07/31/2015	ELN	Filing Fees ICCES Filing Fee	1	\$40.50	\$40.50
		Total additional charges		9-	\$40.50
		Invoice A	Amount —		\$6,592.50
		Previous Invoices E	Balance		\$952.00
		Balan	ce Due 💳		\$7,544.50
			_		

357 S. McCaslin Boulevard, Suite 200 Louisville, CO 80027

357 S. McCaslin Boulevard, Suite 200 Louisville, CO 80027

Phone: 720-524-4728 Fax: 720-746-9299 Click Here To Pay This Invoice Using Credit Card

INVOICE

Date:07/09/2015 Invoice #: 245 Matter: Litigation

File #:

Bill To: Santa Fe Gold 6100 Uptown Blvd NE Albuquerque, NM 87110

Due Date: 08/08/2015

Payments received after 11/24/2015 are not reflected in this statement.

Professional Services Date **Details Hours** Rate **Amount** 06/02/2015 PAR Phone Conference 0.20 \$280.00 \$56.00 06/03/2015 PAR Phone Conference 0.30 \$280.00 \$84.00 06/17/2015 PAR Revise 1.00 \$280.00 \$280.00 06/21/2015 PAR Review - Pleadings 0.60 \$280.00 \$168.00 06/22/2015 PAR Review/Revise 0.40 \$280.00 \$112.00 06/22/2015 ELN Draft 0.40 \$125.00 \$50.00 06/26/2015 PAR Review - Email 0.20 \$280.00 \$56.00 For professional services rendered 3.10 \$806.00

357 S. McCaslin Boulevard, Suite 200 Louisville, CO 80027

Phone: 720-524-4728 Fax: 720-746-9299 Click Here To Pay This Invoice Using Credit Card

Additional Ch	arges				
Date		Details	Quantity	Rate	Amount
06/30/2015	ELN	Filing Fees ICCES Filing Fee	1	\$27.00	\$27.00
			Total additional charges		\$27.00
			Invoice Amount		\$833.00
			Previous Invoices Balance		\$119.00

Balance Due

\$952.00

357 S. McCaslin Boulevard, Suite 200 Louisville, CO 80027

Phone: 720-524-4728 Fax: 720-746-9299 Click Here To Pay This Invoice Using Credit Card

INVOICE

Date:09/15/2015 Invoice #: 321 Matter: Litigation

File #:

Bill To: Santa Fe Gold 6100 Uptown Blvd NE Albuquerque, NM 87110

Due Date: 10/15/2015

Payments received after 11/24/2015 are not reflected in this statement.

Professional Services

Date	Detalis	Hours	Rate	Amount
08/02/2015	PAR Email - Opposing Counsel	0.10	\$280.00	\$28.00
08/05/2015	PAR Phone Conference	0.30	\$280.00	\$84.00
08/06/2015	PAR Review - Pleadings	0.50	\$280.00	\$140.00
08/07/2015	PAR Review - Email	0.30	\$280.00	\$84.00
08/14/2015	PAR Email	0.10	\$280.00	\$28.00
08/15/2015	PAR Revise	0.20	\$280.00	\$56.00
08/17/2015	PAR Review - Email	0.10	\$280.00	\$28.00

357 S. McCaslin Boulevard, Suite 200 Louisville, CO 80027

O8/27/2015 PAR Review - Pleadings 0.10 For professional services rendered 2.20 Additional Charges Date Details Quantity O8/31/2015 ELN Filing Fees ICCES Filing Fees Total additional charges Invoice Amount				
Additional Charges Date Details Quantity 08/31/2015 ELN Filing Fees 1 ICCES Filing Fees Total additional charges	08/21/2015	Review - Pleadings 0.5	\$280.00	\$140.00
Additional Charges Date Details Quantity 08/31/2015 ELN Filing Fees 1 ICCES Filing Fees Total additional charges Invoice Amount	08/27/2015	Review - Pleadings 0.1	\$280.00	\$28.00
Date Details Quantity 08/31/2015 ELN Filing Fees ICCES Filing Fees Total additional charges Invoice Amount		For professional services rendered 2.2	ō	\$616.00
08/31/2015 ELN Filing Fees ICCES Filing Fees Total additional charges Invoice Amount				
Total additional charges Invoice Amount	Date	Details Quantit	y Rate	Amount
Invoice Amount	08/31/2015		1 \$27.00	\$27.00
		Total additional charges		\$27.00
		Invoice Amount		\$643.00
Previous Invoices Balance		Previous Invoices Balance		\$7,544.50
Balance Due		Balance Due		\$8,187.50

357 S. McCaslin Blvd., Suite 200 Louisville, Colorado 80027 Patricia A. Riley, LLC

Santa Fe Claims Processing c/o American Legal Claim Services PO Box 23650 Jacksonville, FL 32241-3650

\$1. US POS FIRST-C 062S00084